Review for Test 3

e Finding x and y intercepts
» Slopeof aline

* Equation of aline: a) dope-intercept b) point-slope c) standard form

e Pardld linesand Perpendicular lines
» Functions; vertical linetest and domain

1: Find the slope of the line that passes through the poi
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Example 2: Find the x and y intercepts(if any) of the line
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Example 3: If f(x) = —2x% — 5x + 1, evaluate the following:
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Example 4: Determine which of the following sefs represents a function.

X
2 2

{ed.eB) (z0)} No S

{(2,2), (5,2), (% 0)} Veg

S
(5 0), (2, 0) Yeb \

2—= 0O
75/,

Example 5: Find the domain of the functions.




Example 6: State whether the following lines are parallel, perpendicular, or neither.
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Example 7: Write the equation for the line that f?as -7/8 and y-intercept -3/4. P@‘P .
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Example 8: Give the equation for aline in slope intercept form that passes through (-1,7) and (-1/5, -2).
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Example 9: Write an equation for the line that passes through the point (-3, 4) and is
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